
ProofofPerception Convergence Theorem

-FO =0:Initial stateofhypothesis
- Al):Hypothesis after I mistakes

- **:Correcthypothesis

We wantthe angle between 8" (currentseparator) and ** (good separator) todecrease

↳ Small angle -> Big cosine

- Cosine ofangle between them:

cos (89), 8*) =Ety (Definition ofdot product)

cos(0", 8*) ="**. ill

-Focusing on the firstterm, we assume thatthe let mistake occurs on the ith example (x, y()).
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Focusing on the 2nd term, we look at118()" for simplicity
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- Then,

cos(0", 8*) ="**. ill

-
my site,

I die I

k =(2)


